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RANK HOLE ouT IN TOTAL Hdcp NET
K 8 36 36 72

g HB —3 a1 | a2 | 83 7.0 76.0
7 S P IR ™ 70 79.0
3 =Wz @ | 4 87 40 83.0
a AN IE a6 | 41 93 9.0 84.0
5 N BER as | a7 91 5.0 86.0
6 hiE == 54 | 54 108 15.0 93.0
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RANK HOLE ouT IN TOTAL Hdep NET
K & 36 36 72

e JI\E 55 51 a7 98 20.0 78.0
2 | B9 —if as | 52 100 22.0 78.0
3 R &S 54 | 52 106 27.0 79.0
4 | WA E— 52 | 52 | 104 25.0 79.0
5 IS & 50 | 47 97 16.0 81.0
6 BN F— a5 | 52 97 16.0 81.0
7 L5 F=P 52 | 53 105 19.0 86.0
8 BB HEE 60 | 63 123 30.0 93.0
9 AT B8 64 | 62 126 21.0 105.0
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